Money
Worksheet-1

A] Do as directed.

1. Write Rs 52.20 in words.

2. Write in figures. Five hundred Rs fifty paise.
3. Convert 487 paise into Rs.

4. Add Rs 275.56 +Rs100

5. Subtract Rs 483.18 — Rs 299.36

B] Choose the correct answer:

(1) A soap costs Rs 80.50. How much will 4 soaps cost?
(a) Rs330.50

(b) 322

(c) 340

(i1) A toy costs Rs55. How much will go with 8 such toys cost?
(a) 440
(b) 400
(c) 540

i11) If Shelly buys 2 video games at Rs150 each, how much money
will she get back from Rs 5007

(a) Rs100

(b) Rs250

(c) Rs200

(iv) When 264.60 is divided by 6 the quotient is
(a) Rs 44.10
(b) Rs 44.60
(c) Rs 54.10

C] Add the following arranging Rs. and paise in columns:

(i) Rs. 37.42 p + Rs. 16. 05 p




(i) Rs. 76.56 p + Rs. 9.58 p

(iii) Rs. 80. 80 p + Rs. 76.50 p
(iv) Rs. 50.00 p + Rs. 34.79 p
(v) Rs. 190.60 p + Rs. 76.50 p
(vi) Rs. 45.50 p + Rs. 57.63 p

D] Solve the following Questions:

1]The price of a school bag is Rs 250.95 but Priya has only Rs
210.25. How much more money does she require to buy the bag?

2] Mary wants to buy 7 pens. Each pen costs X10. How much money
does Mary needs to pay?

3] Kelly bought X 120 worth of plants. She gave the nursery owner
X100. How much extra she has to pay more?

4]Christy bought X70 worth of apples. She handed the shopkeeper <

100. What was the change amount?

5] David has 350 with him. He wants to buy pencils. Each pencil costs
X5. How many pencils can David buy? How much money will 14
oranges cost?




